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. Thlrllo(bn-fmm] products is 0.030 mel I min when [A], is 0.150 mol I'. Which of

following statement(s) is (are) correct i the reaction is fist order?
tA!aplocof|A1Vsmnumpullm

(B) The rate constant of the reaction is 0.20 min

(C) A plotof LITA), Vs time i  straight ine with negaiive

(D) Time taken for $9.9% completion of the reaction is 10 1,

The order of increasing average mass per nuclear particie of the

isolopes X =22 Ca. Y =2 Zn, Z=7 Ag

M XL B)YsZxX C1Z>Y>Z DYZ>X>Y

Allyl Chloride and vinyl Chlw i arc distinguished by
A) SN reaction B) S reaction Cyule. AgNe, D) mq. AgNo,.

A mixture of 1.4 mol of helium and 6.1 mol of o1ygen occupics 4,15 | container 81 25° C. Which of
the statement(s) is (are) correct

a) Hohas Jarger average molecular specd

%) Both halium and oxygen have equal average ranslational energy
€ He gas has larger paial pressute

d) Oxygen gas has lasger mole fraction

Ammani dichromale deconposes 1 give

AN, Blo, ©)Crp, DhNo,

The Carbide(s) in which earban is diagonally hybridised

nZre BAIC, C)Mag, DIALIC),
Fwnmymmuldr(llm AH =218k which of the following changes would
ncrense the equilibeium ainount of XeFa,

A} Incrcasing the container size 1 Adding Ve,

©)Inkressing sysiem

. Which of the following staiement(s) is (are) correct regarding Noj ion

A) Nitcogen shows Sp*hybridization  B) Contaia a [ bond wnd two sigma bonds
C) Acts as an oxidizing agent D) acts as 3 reducing sgent



